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RAWE =
100 3.151576 3.141576
200 3.146588 3.141588
300 3.144924 3.141591
400 3.144092 3.141592
000 3.143592 3.141592
600 3.143259 3.141592
700 3.143021 3.141592
300 3.142842 3.141592
900 3.142704 3.141592
1000 3.142592 3.141592




RAWE =
1000 3.142592 3.141592
2000 3.142093 3.141593
3000 3.141926 3.141593
4000 3.141843 3.141593
9000 3.141793 3.141593
6000 3.141759 3.141593
7000 3.141736 3.141593
8000 3.141718 3.141593
9000 3.141704 3.141593
10000 3.141693 3.141593
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6 110 20
7 111 21
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10 | 2 b (n)
0 0 0
1 1 1/2
2 10 0+ 1/4
3 11 1/2 + 1/4
4 100 04 0+1/8
5 101 1/2 + 04 1/8
6 110 0+1/4+1/8
7 111 1/2 + 1/4 + 1/8
8 1000 04+0+0+1/16
9 1001 [ 1/24+ 0+ 0 +1/16
10 1010 | 0+ 1/4 +0 + 1/16
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1 1/2 1/3
2 1/4 2/3
3 3/4 1/9
4 1/8 4/9
5 5/8 7/9
6 3/8 2/9
7 7/8 5/9
8 1/16 8/9
9 9/16 1/27
10 5/16 10/27
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